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CEER kR IREEEH

18 2H 38 48 58 6H 78 8H 98 108 18 128 138 148 158 168 178 18H 198 208 218 228 23H 248 25H 268 278 28H 29H 308 318

x * * % + 2] A x * & ® + ] A x * * % + 2] A x * x ® + ] A x K X
EREER g | E% | 2 | 2 |KEe | AEE | =x | =g | =g | 2 | 2 | GEe [ AE| =% | =z | =g | 2 | 2 | KEe | AEE| =% | =3 | =g | 2% | 2% | KEB | KEBE| =% | HE8 | #E8 | hxA
LBt a— g | E% | 2 | 2 |KEe | Az | =% | =3 | =g | 2% | 2 e | hEe | mx | =g | =x | =g | 2% | KEe | hEe | wx | mx | =% | =g | 2% |k | hEe | =k | x| =x | =z
MR 4— g | E% | 2 | 2% |KEE | Az | =% | =3 | =g | 2% | 2% e | hEe | mx | =g | =g | =g | 2% | KEe | hEB | wx | mx | =% | =g | 2% | KA | hEe | =g | x| =x | =z
BEEHBEL A~ g | E¥ | 2 | 2% |KEE | Az | =% | =3 | =g | 2% | 2% e | hEe | mx | =g | = | =g | 2% | KL | hEB | wx | mx | =% | =g | 2% | KA | hEe | =k | x| =x | =z
EEABE A~ g | E% | 2 | 2 |KEe | Az | =% | =3 | =g | 2% | 2 | e | hEe | mx | =g | =g | =g | 2% | KA | hEB | wx | mx | =% | 2% |48 | ke | hEe | =k | x| =x | =z
B 2— g | =% | 2 | 2% |KEe | Az | =% | =3 | =g | 2% | 2 | e | hEe | mx | =g | = | =g | 2% |68 | hEB | wx | x| =% | 2% |48 | ke | hEe | =k | x| =x | =z
BERBRELI— EE | E% | 2 | 2% | KEe | AEE | =% | =g | =g | 2 | 2 | GEe [ AE| =% | =z | =g | 2 | 2% | KEe | AEE| =% | =3 | =% | 2% | KE0 | hEB | KEe | =% | =2x | 2% | Hhxa
HMN B 52— g | =¥ | 2 | 2% |KEe | Az | =% | =3 | =g | 2% | 2 | e | hEe | mx | =g | = | =g | 2% |68 | hEB | wx | mx | =% | 2% |48 | ke | hEe | =k | x| =x | =z
BERREYs— g | E% | 2 | 2% |KEE | Az =% | =3 | =g | 2% | 2 e | hEe | mx | =g | =g | =g | 2% |68 | hEB | wx | mx | =% | =g | 2% | K8 | hEe | =g | x| =x | =z
SwhaEBELA— | B | B | 2% | 2f | AEE | KEE| =% | 2% (KA | 2 | 2 | AEe [ AEE | =% | =g | =g | 2 | 2% | KhEe | AEe | =% | =3 | 2% | 2% | KE0 | KEB | KEB | KEB | KEB | hEA | xR
RVELE - L2 B EE | E% | 2 | 2% | KEE | KX [ AEB | =3 | 2% | KhEA | KhER | KEB | KEE | =% | = | =g | 2 | 2% | KEE | AFE | =% | =3 | 2% | 2% |40 | hEB | KEe | =% | =2x | 2% | HhEa
R—FIURBtELA— | BE | B | 2 | 2% [ AEE KX | =% | =g | 2 | 2 | 2% | AXe [ AEE| =3 | =g | 2% | 2 | 2% | KEe | KEe | =% | =g | =g | 2% | 2 | GEe | AEE| =% | =z | =% | 2z
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